SR AR MRS ﬁ?%\%k/ﬁé@ﬁﬁ%%%ﬂ\
Wk 30 FEE AT

BB A3 OB CFR 31 45 3 A 31 HBIE)

ik B 5 (6 ) &R EFIHE K
Ul 2 LO | et & ) (R IRl N
B rhil 9.7 | MESHEREME 3.0 T 29 4EFE | 30 4ERE HE R
WG AT 5.4 | SEEMRE 2.0 || AFT 100 92.8 92.0 -0.8
i rEL L 36.8 | F#5E 2.0 | FE 1.0 0.7 0.3
Ik R 4.3 | iRXEPRE 5.0 At 93.8 92.7 -1.1
PR 3.0 HATY N 30 19.5 22.8 +3.3
Ve © 3.0 AR 190.8 174.0 -16.8
SEFIA 0.0 FhE 193.3 196.9 +3.6
& &F 76.2 N CGRHATAEE 0.3 A) BN AR 59.1 45.4 -13.7
PEORW  (BHEEAART - 8T - 35F - JBE - - &Fh) CFEpk 31 4E 3 A 31 ABLE)
S A xR (HAT: 1)
G PEDED AfEDHER
i) & 152,510,850| i Eh & f& 88,999,739
[ i PE 583,735, 11 7|[EE A& 427,253,177
gt 736,245,967 gt 516,252,916
il PEDE
[ e At B 4 R A ST 4 35,411,748
I S B ek e AR 184,581,303
i 219,993,051
ErE At 736,245,967]  AfE-MEE A5 736,245,967
* B KGR E (A7) e G A E (BN 1)
IR SEIA 529,455,196 ST PR R S A 529,455,196
= =N 6,804,942| | - | [EEHR LS 6,804,942
o [ |BEIRLERL S B A 457| | 1|8 R R R A A 0
EJUNEIRTIN 183,525 | €| [¥—t AE@hiuzest (1) | 536,260,138
R A I ol [2] [ 350,475,523
% FEILEAGHQ) 536,444,120 g FEE 93,449,902
r| RS 349,600,191 | | % | FFEE 68,825,109
JMEES &3t 93,449,902| |3k |8 | f A0 g 34,017,771
I i HEH R 68,825,109| [P | |m=miisssreantrenmmE A 1,799,140
XN Gempa s 7.582,650] || [y—tximmaemat ) | 544,969,165
FREIEB) SCHE2) 519,457,852 - AEBEHEE (3) = ()-(2) | A 8,709,027
FEIREE RIS =()-(2) 16,986,268 | 7 =2 BRI 2B X4 A 457
fi I 3 A s S5 A B B XA 140,000/ | & % Z Of L ATEBMLAS 183,525
O | o |EEE ETEAIA 214,600 | & | |[F-tAEBSMLGEE (4) 183,982
}}f% % i fi SN G H(4) 354,600] | # ¥ SCHVFILE 7,582,650
me | [REE A ST AREE L 35,280,000| | w [ |4t 2im@hs s Azt (5) 7,582,650
Iz 3 | pE EE S HY 11,152,260 i‘)g FUAEBAIEAEREE) = (1)-6) | A 7,398,668
7 |t 3,540,276 | R RIRERE (1) =(3)+(6)| A 16,107,695
iy | [ S S ERG) 49,972,536 SR a0 S5 A 3D S 140,000
| MRS AU EEE)=1)-6) | A 49,617,936] |FF % [ I PETE %S 214,598
o i [HE b B A DI | 46,852,262| | 7] T IReRIAEEH®) 354,598
( A 2D OEBINAGHT) 46,852,262 E T 81 o 5 R B A T A R 140,000
o % [romoEBic s i 19,133,236] | o i ZOMOERHEL 19,133,236
s 2 omoEE) R HEHS) 19,133,236] | KR FHEH9) 19,273,236
Y| oM OTE B A FEE9)=(T)-(8) 27,719,026 Er I ZERE(10)=(8)-(9) | A 18,918,638
UG GICGEREATH10=(3)160)+9) | A 4,912,642| | SHTEBHEEEERE0 D=(7)+(10) | A 35,026,333
AR SCPAE Ak (1) 134,609,909| | A EE B ERE(12) | 219,607,636
YR LB AR (10) +(11) 129,697,267| | MBREEEE (1) +(12) | 184,581,303




